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B. Sc. (First Year) Examination, 2018-19 N
CHEMISTRY
Papcr : Third
(Organic Chemistry)
Time Allowed : Three hours
Maximum Marks : 25

Minimum Pass Marks : 08
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Note : Attempt questions of all three sections as directed,
Distribution of marks is given with sections.

Tre-A

Section-A

(=yfirg o) 10x1;=05
(Objective Type Questions)
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Note : dnswer all the following questions. Each queston

carrics s mark.

1. @@t I W HAA Fwg—

Choosec the correct answer

(i) TR TR ¥—
(a) WER W
(b) TEWfE A"
() wfw wwm
(d) fx SR W
No bond resonance is :
(@)  Inductive effect
(b)  Mesomenc effect
(¢) Steric effect

(d) Hyper conjugation effect
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(i) Tomcle ==t ¥ ffg wor &1 Sa=w w1 93— () CH,
(@) sp (c) CH,
&) sp @ CAH,
© s’ (v) g e 3—
) spd (@) TF st 3
Which type of hybridization present in Singlet .
P (b) TE Tt A
Carbenes :
(a) sp _g _g (c) onfras 39
®) s’ E g @ = BLl
© sp° ﬁé‘” %’ Solid Methane is :
(d) spd ia % (a) Tonic solid
g g (b) Co-valent solid

«c) Molecular solid

(a) CH
(d) Not possible
(b) CH,
(v) = afieds 3—
(¢ CH
@ C 1{6 (a) FfrEmR AgNO,
i |
b
What is main in Marsh gas : (b) AT CuSO,
H, () wfEmE Cu,Cl,
C,
oo (d) & KMnO,

PTO
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(c)
(d)

(Vi) == Koy

Basic KMnO,

= W T v W o s

-
ST t'—

()
(b)
(c)
(d)

C.H,0H
CH,
CH,

C.H,0CH,

Ethyl chloride gives on heating with alcoholic
KOH:

(a)
(b)

(<)
(d)

C,H,0H
CH,

&

CH

P

C?I‘IioczHﬁ

(vii) T § W @ wE weE i
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[6]

(d vyl

Hydrogen attach to carbon in acetylene are :
" (a) Neutral

b) Acidic
(c) Basic

(d) Amphoteric

(viii) seiEn F1 eroeed YT & A v g -
@ CCl,
ko) CHC
() C,H.0H
(d) CH,COCH,

What is used to stop decomposition of chloroform :|

@) cal,
() CH.Cl,
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(ix)

(x)

[7]
(©) CH,0H

(d) CH,COCH,

frefafae § & #1 yeliet afrae e s
—

(a) =geATd-2 .

(b) T

() U=A-3

(d) T=AE-1

Which of the following exhibit optical activity
() Butenol-2 |

(b) Butenol-1’

(c) Pentenol-3

(d) Heptenol-1

fraafere AEEwien oG —
(a) WA

(b) =
) =2

(d) wrdta
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[8]

Geometrical isomerism is possible in :
(a) Propane
(b) ,But.ahe

(c) Butene-2

(d) Propene
T Us-
- Section-B
( &y =={ta wyA) 5x2=10

(Short Answer Type Questions)

T} gl g & IW e 5@F 9T @ o
TR & AEE B 8% 797 2 HwF #7 #

Note : Attempt all the five questions. One quetions from

each unit is compulsory. Each question carries 2
marks.

wenTs-1
Unit-I
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5. SR 1 OETR N 2 S ) v e @ e

- What is theory of Resonance? Explain resonance energy
of Benzene.

AT

Or )
FETEH S F fE W y9E e T SR T
Foie Hfag|

Describe the factor affecting the stability of Carbonium

Ion. http://www.apsuonline.com

-1

Unit-1I

3. n-TeA H WEIV AHALY |

Explain conformations of n-butane.

argan
Or

Tow afufea &t e Hial

Describe Wurtz reaction.

yahs-111

Unit-111

1-3349
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[ 10 ]
TIFET T THETE |
Explain Peroxide effect.

37U
Or

e @ TR & sieifrE swdm fafed

Write industrial uses of Ethylene and Propene.

FHE-IV

Unit-IV
frafafea =1 IUPAC ™ fafen—

(a) CH,-C=C-CH,

(b) CH,-CH=CH-C=CH

Write the IUPAC na;me of the following :
() CH,-C=C-CH,

(b) CH,-CH=CH-C=CH

aqerEr
Or
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A 3 TS Y I BRI R TER a2

How would you prepare Phosgene from Carbon tetra

chloride?

-V

Unit-V

. fafe ol w0 &2 wegmd)

What is Specific Rotation? Explain.

AT
Or

qEe e & THEE |

Explain Walden Inversion. J

1-3349 PTO
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WUs-q
Section-C

(3 swita wyw)

(Long Answer Type Questions)

e ; &?T&?W#érﬁ?a?ﬁqummw HF T &I

Note : Answer any two questions. Each question carries
3 marks.

. SN' 9 SN? &fufsraeti =t auw frafafy = fad=m

EiE iy

Describe the SN' and SN? reaction and mechanism.

. A E T fagr w st drmetl afee s wifeg

Describe the Baeyer’s strain theory with its limitation.

. -t Afufpn wd =t feafafy sfes smen

ST

Discuss Diels-Alder reaction with its. mechanism.

1-3349
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10.@&@'—! ¥ Frefafes #¥9 ofafm s9—
(a) TIHE A
(b) A
() THTE
(d) PV.C. wifes

How would you obtain the following from acetylenes :

_(a) Formic acid
(b) Methane

(¢) Ethylene

(d) P.V.C. Plastic

11. s GaEEE B SeEW dfed T T

Explain Geometrical Isomerism with example.

http://www.apsuonline.com
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